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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 929 2) 5,141 3) 54 4 769
- 202 - 3,000 - 3 - 602 5
3,
4,
5 8,573 6 37 7 951 8 8,233 >
-1,401 =25 -320 -5,011 6
7.
8.
9 97 10) 439 11) 3,315 12) 87 0.
-61 -128 - 204 -52
— — —_— — 10.
11.
12.
13) 649 14)  7.168 15) 33 16) 556 13
- 523 - 1,007 -1 - 22
T - T T 14,
15.
16.
17) 6,354 18) 43 19 856 20) 7.544 7
-1,011 -20 - 115 -1,313
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 727
1) 929 2 5141 3 54 4 769
- 202 - 3,000 - 3 - 602 ” 2141
727 2141 51 167
3. 5l
4 167
5 8,573 6 37 7 951 8 8,233 > 7172
- 1,401 - 25 - 320 - 5,011 . 12
7.172 12 631 3,222
- 631
8. 3222
9 97 100 439 11) 3,315 12) g7 J 36
-61 -128 - 204 -52 311
36 311 3111 35 10
11 3111
12, 35
13) 649 14) 7,168 15) 33 16) 556 13, 126
- 523 -1,007 -1 - 22
126 6.161 32 534 . 6161
15, 32
16, 534
17) 6,354 18) 43 19) 856 20) 7,544 17 5343
-1,011 - 20 - 115 -1,313
5,343 23 741 6,231 18, 23
19, 741
0. 6231
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
3222 2141 35 12
167 631 7172 311 1
36 727 3111 51
2.
) 929 2 5,141 3 54 4 769 3.
- 202 - 3,000 - 3 - 602
— I — — 4,
5.
6.
7.
8.
5 8,573 6 37 ) 951 8 8,233 0,
-1,401 - 25 - 320 -5,011
- - - - 10.
11.
12.
9 97 10) 439 1) 3,315 12) 87
-61 - 128 - 204 -52
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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